City Clerk

Bid Committee Bid Tab

Bid OCWUT WC-1050 Ended At Jun 14, 2023 10:00:00 AM CDT CONSTRUCTION/OCWUT - Booster Pump Station Nos. 7 and 22 System Improvements

Company:	Downey Contracting, L.L.C.	Cimarron Construction Company, LLC	Southwest Water Works L.L.C.
Base Bid	\$1,133,738.60	\$1,178,871.00	\$1,346,670.00
TOTAL BID:	\$1,133,738.60	\$1,178,871.00	\$1,346,670.00

Tresha Williams	Chad Harrison	Tim Alvarez
City Clerk	Purchasing Agent	Auditor

Potential Bid Defects Noted:

- #1 Anti-collusion affidavit not properly notarized
- #2 Bid Bond missing
- #3 Bid Bond incorrect awarding agency
- #4 Bid Bond insufficient amount
- #5 Business relationship affidavit not properly notarized

THE BID COMMITTEE DOES NOT REJECT OR ACCEPT BIDS. The noting or failing to note on the bid tabulation any defect by the Bid Committee is not conclusive of the validity, regularity, completeness or legality of any bid. Questions regarding bid defects or irregularities should be directed to the Municipal Counselor's Office at (405) 297-2451.

Originating Department shall:

- 1. Carefully examine and evaluate all opened bids, including a review of potential defects noted by the Bid Committee;
- 2. Contact your legal representative prior to recommending contract award based on a bid with any potential or perceived irregularity or defect; and
- 3. Prepare a memorandum to Council or its Trusts with recommendations regarding contract award, listing all bids opened and noting any defects; and
- 4. Attach a copy of the Bid Committee's bid tabulation with the SIRE item recommending contract award as a non-published document for review by staff.

Bid #OCWUT WC-1050 - Booster Pump Station Nos. 7 and 22 System Improvements

Start Date May 24, 2023 7:51:59 AM CDT Awarded Date Not Yet Awarded

OCWUT WC-105001-01 Base Bid: 16-IN DIP WATERLINE (MJ) (0.30-IN NOMINAL THICKNESS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southwest Water Works L.L.C.	First Offer - \$325.00	125 / linear foot	\$40,625.00	Υ	Y		
Product Code: WC-1050		Supplier Product Code	e:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$415.00	125 / linear foot	\$51,875.00	Υ	Y		
Product Code: WC-1050		Supplier Product Code	2:				
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$458.00	125 / linear foot	\$57,250.00	Υ	Y		
Product Code: WC-1050		Supplier Product Code	<u> </u>				
Agency Notes:		Supplier Notes:					

OCWUT WC-105001-02 Base Bid: 6-IN DIP WATERLINE (MJ) (0.25-IN NOMINAL THICKNESS)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southwest Water Works L.L.C.		First Offer - \$105.00	10 / linear foot	\$1,050.00		Y		
Product Code: WC-1050			Supplier Product Code:					
Agency Notes:			Supplier Notes:					
Downey Contracting, L.L.C.		First Offer - \$223.00	10 / linear foot	\$2,230.00		Y		
Product Code: WC-1050			Supplier Product Cod	le:				
Agency Notes:			Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$252.00	10 / linear foot	\$2,520.00		Y		
Product Code: WC-1050			Supplier Product Cod	le:				
Agency Notes:			Supplier Notes:					

OCWUT WC-105001-03 Base Bid: 16-IN DIP WATERLINE (FLANGED) (0.30-IN NOMINAL THICKNESS)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southwest Water Works L.L.C.	First Offer - \$2,000.00	10 / linear foot	\$20,000.00		Υ		
Product Code: WC-1050		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$2,280.00	10 / linear foot	\$22,800.00		Y		
Product Code: WC-1050		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$3,644.00	10 / linear foot	\$36,440.00		Υ		
Product Code: WC-1050		Supplier Product Cod	de:				
Agency Notes:		Supplier Notes:					

OCWUT WC-105001-04 Base Bid: 12-IN DIP WATERLINE (FLANGED) (0.28-IN NOMINAL THICKNESS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$1,115.00	10 / linear foot	\$11,150.00		Υ			
Product Code: WC-1050		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$1,300.00	10 / linear foot	\$13,000.00		Υ			
Product Code: WC-1050		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$1,350.00	10 / linear foot	\$13,500.00		Υ			
Product Code: WC-1050		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-05 Base Bid: 8-IN DIP WATERLINE (FLANGED) (0.25-IN NOMINAL THICKNESS)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$480.00	30 / linear foot	\$14,400.00		Y			
Product Code: WC-1050	Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$600.00	30 / linear foot	\$18,000.00		Y			
Product Code: WC-1050		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$600.00	30 / linear foot	\$18,000.00		Y			
Product Code: WC-1050		Supplier Product Cod	le:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-06 Base Bid: FITTINGS (16-INCH SOLID SLEEVE) (MJ)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$1,163.00	6 / each	\$6,978.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$3,085.00	6 / each	\$18,510.00		Y			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$4,500.00	6 / each	\$27,000.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-07 Base Bid: FITTINGS (6-IN MEGALUGS SERIES 2006PV)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Southwest Water Works L.L.C.	First Offer - \$100.00	4 / each	\$400.00		Y		
Product Code: WC-1050	roduct Code: WC-1050 Supplier Product Code:						
Agency Notes:		Supplier Notes:					
Downey Contracting, L.L.C.	First Offer - \$121.00	4 / each	\$484.00		Υ		
Product Code: WC-1050		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					
Cimarron Construction Company, LLC	First Offer - \$314.00	4 / each	\$1,256.00		Υ		
Product Code: WC-1050		Supplier Product Co	ode:				
Agency Notes:		Supplier Notes:					

OCWUT WC-105001-08 Base Bid: FITTINGS (16-IN MEGALUGS SERIES 2016PV)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$406.00	24 / each	\$9,744.00		Υ			
Product Code: WC-1050		Supplier Product Co	de:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$450.00	24 / each	\$10,800.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$985.00	24 / each	\$23,640.00		Y			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-09 Base Bid: FITTINGS (16-IN X 8-IN TEE) (FLANGED)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$3,493.00	6 / each	\$20,958.00		Υ		
Product Code: WC-1050		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

	1.1	1		1
Cimarron Construction Company, LLC	First Offer - \$3,	675.00 6 / each	\$22,050.00	Y
Product Code: WC-1050		Supplier Pro	duct Code:	
Agency Notes:		Supplier Not	es:	
Southwest Water Works L.L.C.	First Offer - \$5,	500.00 6 / each	\$33,000.00	Υ
Product Code: WC-1050		Supplier Pro	duct Code:	
Agency Notes:		Supplier Not	es:	

OCWUT WC-105001-10 Base Bid: FITTINGS (16-IN X 6-IN TEE) (MJ)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$1,614.00	1 / each	\$1,614.00		Y			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$2,750.00	1 / each	\$2,750.00		Y			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$4,500.00	1 / each	\$4,500.00		Y			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-11 Base Bid: FITTINGS (16-IN X 12-IN REDUCER) (FLANGED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$1,753.00	6 / each	\$10,518.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$2,175.00	6 / each	\$13,050.00		Y			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$3,000.00	6 / each	\$18,000.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-12 Base Bid: FITTINGS (16-IN	OCWUT WC-105001-12 Base Bid: FITTINGS (16-IN 45-DEG BEND) (MJ)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First C	ffer - \$2,290.00	4 / each	\$9,160.00		Y			
Product Code: WC-1050			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						
Southwest Water Works L.L.C.	First C	ffer - \$3,500.00	4 / each	\$14,000.00		Y			
Product Code: WC-1050			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						
Cimarron Construction Company, LLC	First C	ffer - \$5,125.00	4 / each	\$20,500.00		Y			
Product Code: WC-1050			Supplier Product Co	ode:					
Agency Notes:			Supplier Notes:						

OCWUT WC-105001-13 Base Bid: FITTINGS (8-IN 90-DEG BEND) (FLANGED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$679.00	6 / each	\$4,074.00		Y			
Product Code: WC-1050 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Southwest Water Works L.L.C.	First Offer - \$700.00	6 / each	\$4,200.00		Y			
Product Code: WC-1050 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					
Cimarron Construction Company, LLC	First Offer - \$1,075.00	6 / each	\$6,450.00		Y			
Product Code: WC-1050 Agency Notes:		Supplier Product Co Supplier Notes:	ode:					

OCWUT WC-105001-14 Base Bid: FIRE HYDRANT						
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Off	er - \$5,750.00	1 / each	\$5,750.00		Υ
Product Code: WC-1050			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Southwest Water Works L.L.C.	First Off	er - \$8,000.00	1 / each	\$8,000.00		Υ
Product Code: WC-1050			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			
Downey Contracting, L.L.C.	First Off	er - \$8,403.00	1 / each	\$8,403.00		Υ
Product Code: WC-1050			Supplier Product Co	ode:		
Agency Notes:			Supplier Notes:			

OCWUT WC-105001-15 Base Bid: REMOVE FIRE HYD	OCWUT WC-105001-15 Base Bid: REMOVE FIRE HYDRANT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$596.00	1 / each	\$596.00		Y				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$1,000.00	1 / each	\$1,000.00		Y				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$2,500.00	1 / each	\$2,500.00		Y				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-105001-16 Base Bid: 12-IN GATE VALVE (FLANGED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$4,475.00	6 / each	\$26,850.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$4,495.00	6 / each	\$26,970.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$8,500.00	6 / each	\$51,000.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-17 Base Bid: 8-IN GATE VALVE (FLANGED)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$2,354.00	6 / each	\$14,124.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$2,575.00	6 / each	\$15,450.00		Y			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$5,500.00	6 / each	\$33,000.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-18 Base Bid: 6-IN GATE VALVE WITH VALVE BOX (MJ)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$1,686.00	1 / each	\$1,686.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes: Supplier Notes:								

Cimarron Construction Company, LLC	First Offer - \$1,800.00	1 / each	\$1,800.00	Y
Product Code: WC-1050		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		
Southwest Water Works L.L.C.	First Offer - \$3,500.00	1 / each	\$3,500.00	Υ
Product Code: WC-1050		Supplier Product Co	ode:	
Agency Notes:		Supplier Notes:		

OCWUT WC-105001-19 Base Bid: 12-IN PRESSURE REDUCING VALVE W/ METERING PACKAGE (FLANGED)								
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Cimarron Construction Company, LLC		First Offer - \$40,750.00	3 / each	\$122,250.00		Y		
Product Code: WC-1050			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Downey Contracting, L.L.C.		First Offer - \$41,369.00	3 / each	\$124,107.00		Y		
Product Code: WC-1050			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					
Southwest Water Works L.L.C.		First Offer - \$60,250.00	3 / each	\$180,750.00		Y		
Product Code: WC-1050			Supplier Product Co	ode:				
Agency Notes:			Supplier Notes:					

OCWUT WC-105001-20 Base Bid: 8-IN PRESSURE	REDUCING VALVE W/ METER	RING PACKAGE (FLAN	NGED)		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$24,500.00	3 / each	\$73,500.00		Υ
Product Code: WC-1050		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$25,176.00	3 / each	\$75,528.00		Υ
Product Code: WC-1050		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$39,500.00	3 / each	\$118,500.00		Υ
Product Code: WC-1050		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-105001-21 Base Bid: HYDROSTATIC PRESSURE TEST AND DISINFECTION									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$4,750.00	1 / lump sum	\$4,750.00		Υ				
Product Code: WC-1050 Supplier Prod			ode:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$8,738.00	1 / lump sum	\$8,738.00		Υ				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$20,000.00	1 / lump sum	\$20,000.00		Υ				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-105001-22 Base Bid: CONSTRUCTION STAKING (CONSTRUCTION SURVEY)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$6,800.00	1 / lump sum	\$6,800.00		Υ				
Product Code: WC-1050 Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Southwest Water Works L.L.C.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ				
Product Code: WC-1050 Agency Notes:		Supplier Product Co Supplier Notes:	ode:						
Downey Contracting, L.L.C.	First Offer - \$18,125.00	1 / lump sum	\$18,125.00		Υ				
Product Code: WC-1050 Agency Notes:		Supplier Product Co Supplier Notes:	ode:						

OCWUT WC-105001-23 Base Bid: GPS "AS-BUILT" SURVEY										
Supplier		Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC		First Offer - \$3,500.00	1 / lump sum	\$3,500.00		Υ				
Product Code: WC-1050			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Downey Contracting, L.L.C.		First Offer - \$5,625.00	1 / lump sum	\$5,625.00		Υ				
Product Code: WC-1050			Supplier Product Code:							
Agency Notes:			Supplier Notes:							
Southwest Water Works L.L.C.		First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ				
Product Code: WC-1050			Supplier Product Co	ode:						
Agency Notes:			Supplier Notes:							

OCWUT WC-105001-24 Base Bid: COLOR AUDIO/VIDEO RECORDING, PRE & POST CONSTRUCTION (RECORDED DIGITALLY ON DVD)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$500.00	1 / lump sum	\$500.00		Υ				
Product Code: WC-1050		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$3,125.00	1 / lump sum	\$3,125.00		Υ				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ				
Product Code: WC-1050		Supplier Product Co	de:						
Agency Notes:		Supplier Notes:							

OCWUT WC-105001-25 Base Bid: CONSTRUCTION SIGNING AND TRAFFIC CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$1,875.00	1 / lump sum	\$1,875.00		Υ				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3,850.00	1 / lump sum	\$3,850.00		Υ				
Product Code: WC-1050		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$15,000.00	1 / lump sum	\$15,000.00		Υ				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-105001-26 Base Bid: MOBILIZATION					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
Cimarron Construction Company, LLC	First Offer - \$30,100.00	1 / lump sum	\$30,100.00		Y
Product Code: WC-1050		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Downey Contracting, L.L.C.	First Offer - \$54,388.00	1 / lump sum	\$54,388.00		Y
Product Code: WC-1050		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			
Southwest Water Works L.L.C.	First Offer - \$60,000.00	1 / lump sum	\$60,000.00		Υ
Product Code: WC-1050		Supplier Product Co	ode:		
Agency Notes:		Supplier Notes:			

OCWUT WC-105001-27 Base Bid: REMOVE WATERLINE (16-IN)								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$30.00	300 / linear foot	\$9,000.00		Υ			
Product Code: WC-1050		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

Southwest Water Works L.L.C.	First Offer - \$75.00	300 / linear foot	\$22,500.00	Y
Product Code: WC-1050		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		
Downey Contracting, L.L.C.	First Offer - \$87.00	300 / linear foot	\$26,100.00	Υ
Product Code: WC-1050		Supplier Product Code	:	
Agency Notes:		Supplier Notes:		

OCWUT WC-105001-28 Base Bid: REMOVE WATERLINE (6-IN)									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Cimarron Construction Company, LLC	First Offer - \$20.00	10 / linear foot	\$200.00		Y				
Product Code: WC-1050		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$41.00	10 / linear foot	\$410.00		Y				
Product Code: WC-1050		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$50.00	10 / linear foot	\$500.00		Y				
Product Code: WC-1050		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT WC-105001-29 Base Bid: SOLID SLAB SODDING										
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs					
Southwest Water Works L.L.C.	First Offer - \$5.00	650 / square yard	\$3,250.00		Y					
Product Code: WC-1050		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Cimarron Construction Company, LLC	First Offer - \$7.00	650 / square yard	\$4,550.00		Y					
Product Code: WC-1050		Supplier Product Code:								
Agency Notes:		Supplier Notes:								
Downey Contracting, L.L.C.	First Offer - \$10.00	650 / square yard	\$6,500.00		Y					
Product Code: WC-1050		Supplier Product Code:								
Agency Notes:		Supplier Notes:								

OCWUT WC-105001-30 Base Bid: EROSION CONTROL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Downey Contracting, L.L.C.	First Offer - \$1,523.00	1 / lump sum	\$1,523.00		Υ				
Product Code: WC-1050	Supplier Product Code:								
Agency Notes:		Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$3,400.00	1 / lump sum	\$3,400.00		Y				
Product Code: WC-1050		Supplier Product Code:							
Agency Notes:		Supplier Notes:							
Southwest Water Works L.L.C.	First Offer - \$10,000.00	1 / lump sum	\$10,000.00		Y				
Product Code: WC-1050		Supplier Product Co	ode:						
Agency Notes:		Supplier Notes:							

OCWUT WC-105001-31 Base Bid: FLOWABLE FILL									
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs				
Southwest Water Works L.L.C.	First Offer - \$200.00	2.6 / cubic yard	\$520.00		Υ				
Product Code: WC-1050 Agency Notes:		Supplier Product Cod Supplier Notes:	e:						
Cimarron Construction Company, LLC	First Offer - \$1,200.00	2.6 / cubic yard	\$3,120.00		Υ				
Product Code: WC-1050		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$1,816.00	2.6 / cubic yard	\$4,721.60		Υ				
Product Code: WC-1050		Supplier Product Cod	e:						
Agency Notes:		Supplier Notes:							

OCWUT WC-105001-32 Base Bid: 16-IN INSERTION VALVE								
Supplier		Unit Price	Qty/Unit	Total	Price	Attch.	Docs	
Downey Contracting, L.L.C.		First Offer - \$41,546.00	1 / each	\$41,54	16.00		Y	
Product Code: WC-1050 Agency Notes:			Supplier Product Code: Supplier Notes:					
Cimarron Construction Company, LLC		First Offer - \$54,500.00	1 / each	\$54,50	00.00		Υ	
Product Code: WC-1050 Agency Notes:			Supplier Product Code: Supplier Notes:					
Southwest Water Works L.L.C.		First Offer - \$55,000.00	1 / each	\$55,00	00.00		Υ	
Product Code: WC-1050 Agency Notes:			Supplier Product Co Supplier Notes:	ode:				

OCWUT WC-105001-33 Base Bid: 12-IN DISMANTLING JOINT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Cimarron Construction Company, LLC	First Offer - \$3,750.00	3 / each	\$11,250.00		Y			
Product Code: WC-1050	Supplier Product Code:							
Agency Notes:	Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$3,919.00	3 / each	\$11,757.00		Y			
Product Code: WC-1050		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$7,000.00	3 / each	\$21,000.00		Y			
Product Code: WC-1050	Supplier Product Code:							
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-34 Base Bid: 8-IN DISMANTLING JOINT								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$2,296.00	3 / each	\$6,888.00		Y			
Product Code: WC-1050	oduct Code: WC-1050 Supplier Product Code:							
Agency Notes:	Supplier Notes:							
Cimarron Construction Company, LLC	First Offer - \$2,375.00	3 / each	\$7,125.00		Y			
Product Code: WC-1050		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$5,000.00	3 / each	\$15,000.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-35 Base Bid: TEMPORARY SECURITY FENCE								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.	First Offer - \$65.00	180 / linear foot	\$11,700.00		Y			
Product Code: WC-1050	roduct Code: WC-1050 Supplier Product Code:							
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$71.00	180 / linear foot	\$12,780.00		Y			
Product Code: WC-1050		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$85.00	180 / linear foot	\$15,300.00		Υ			
Product Code: WC-1050		Supplier Product Code	:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-36 Base Bid: ELECTRICAL SERVICE CONNECTION							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
Downey Contracting, L.L.C.	First Offer - \$95.00	475 / linear foot	\$45,125.00		Υ		
Product Code: WC-1050		Supplier Product Code:					
Agency Notes:		Supplier Notes:					

Southwest Water Works L.L.C.	First Offer - \$125.00	475 / linear foot	\$59,375.00	Υ
Product Code: WC-1050		Supplier Product Code	e:	
Agency Notes:		Supplier Notes:		
Cimarron Construction Company, LLC	First Offer - \$125.00	475 / linear foot	\$59,375.00	Y
Product Code: WC-1050		Supplier Product Code	2:	
Agency Notes:		Supplier Notes:		

OCWUT WC-105001-37 Base Bid: VAULT A								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Downey Contracting, L.L.C.	First Offer - \$131,911.00	1 / each	\$131,911.00		Y			
Product Code: WC-1050		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Southwest Water Works L.L.C.	First Offer - \$150,000.00	1 / each	\$150,000.00		Y			
Product Code: WC-1050		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$156,225.00	1 / each	\$156,225.00		Y			
Product Code: WC-1050		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-38 Base Bid: VAULT B								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.	First Offer - \$125,000.00	2 / each	\$250,000.00		Y			
Product Code: WC-1050		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						
Downey Contracting, L.L.C.	First Offer - \$155,069.00	2 / each	\$310,138.00		Y			
Product Code: WC-1050		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$159,225.00	2 / each	\$318,450.00		Y			
Product Code: WC-1050		Supplier Product C	ode:					
Agency Notes:		Supplier Notes:						

OCWUT WC-105001-39 Base Bid: THRUST COLLAR								
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs			
Southwest Water Works L.L.C.	First Offer - \$1,500.00	4 / each	\$6,000.00		Υ			
Product Code: WC-1050		Supplier Product Code:						
Agency Notes:	Supplier Notes:							
Downey Contracting, L.L.C.	First Offer - \$2,856.00	4 / each	\$11,424.00		Y			
Product Code: WC-1050		Supplier Product Code:						
Agency Notes:		Supplier Notes:						
Cimarron Construction Company, LLC	First Offer - \$4,500.00	4 / each	\$18,000.00		Υ			
Product Code: WC-1050		Supplier Product Co	ode:					
Agency Notes:		Supplier Notes:						

Supplier Totals

f Downey Cor	ntracting, L.L.C.	\$1,133,738.60 (39/39 items)	
Bid Contact	Sheila Stovall gwyssmann@downeycontracting.com Ph 405-478-5277	Address 3217 NE 63rd Street Oklahoma City, OK 73121	
Qualifications	OKC PRE-QUALIFIED CONTRACTORS		
Agency Notes:		Supplier Notes:	Head Attch:
f Cimarron Co	onstruction Company, LLC	\$1,178,871.00 (39/39 items)	

Address 3501 NE. 63rd Street Bid Contact **Don E Noble** JHuckabay@cimarronconstructionco.com Oklahoma City, OK 73121 Ph 405-728-1555 Fax 405-728-5026 Qualifications OKC PRE-QUALIFIED CONTRACTORS **Head Attch: Agency Notes: Supplier Notes:** f Southwest Water Works L.L.C. \$1,346,670.00 (39/39 items) **Paul Matthews Bid Contact** Address 201 NW 132nd St paul@swwaterworks.com Oklahoma City, OK 73114 Ph 405990 Fax 405-463-5665 Qualifications **OKC PRE-QUALIFIED CONTRACTORS Agency Notes: Supplier Notes: Head Attch:**

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.